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ARITHMETICAL ABILITY

1. Average of nnumbers is a. The
first number is increased by 2,
second one is increased by 4,
the third one is increased by 8
and so on. The average of the
new numbers is

n-1_
(1)a+ :

n—
[2)a+22 3

n-1

B)a+

2" -1
D a+

8 Teixa DL . 1
Lot s Ry o=
then the value of 3% - 5xy + 32
is

(1) 1717 @y1177

(3) 1771 SA) 1171

A sum.6f Rs{ 7,980 is divided

into three parts and given on |

loan at 5% simple interest to
A, B and C for 2, 3 and @years
respectively. If the amounts of
all three are equal-after their

respective periods of 16an, then
A received a loan of

(1) Rs. 3,050
(2) Rs. 2,760
(3) Rs. 2,750
(4) Rs. 2,800

4. Anumber when divided by 361
gives a remainder 47. If the
same number is divided by 19,
the remainder obtained is
(13 (2)8
(39 @1

Directions (5-8) : The following graph shows production (in thou-
sands) of two types (P and Q) of vehicles by a factory over the years 2009

to 2014. Study the graph and answer the given questions.
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8. The production of Type Q ve-
hicles in 2010 was approxi-
mately what percent of Type P
£ vehicles in 2014?
(13 (2)4 (1) 60 (2) 45.5
13)2 (4)5 (3) 54.5 (4) 75
6. Approximate percentage de- 10. A man starts from a place P
crease in production of Type Q and reaches the place @ in 7
vehicles from 2010 to 2011 is 1
(1) 10.1 (2) 16.7 hours. He travels 7 th of the
3153 @123 distance at 10 km/hour and
7. The total production of Type P the remaining distance at 12
vehicles in the years 2009 and km/hour. The distance be-
2011 is what percent of total tween P and Q is
M meaoler (3) 80km  (4) 70 km
(1) 75 (2) 69.25 11.In triangle ABC, DE || BC
(3) 80 (4) 81.25 where D is a point on AB and
8. The ratio of total production E is a point on AC. DE divides
of Type P vehicles to total pro- the area of A ABC into two
duction of type Q vehicles over equal parts. Then DB : AB is
the years is equal to
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(1) Jz : (V2+1)
@ J2 : (V2-1)
@ (v2-1): 3
@ (V2+1): 3

12. Ram sold two horses at the
same price. In one he gets a
profit of 10% and in the other
he gets a loss of 10%. Then

Ram gets

(1) 2% loss

{2) No loss or profit

(3) 1% loss (4) 1% profit

13.1f tan 6 - cot 8 = 0 and 0 is
positive acute angle, then the

tan(0 +15°)

value of m is
1
(1) 3 2) 73
1
@ 3 4 J3

14. In AABC £BAC = 90° and AD
1BC.IfBD =3 cmand CD =
4 cm, then the length of AD
is
(1) 3.5em  (2)5cm

(3) 2/3 em (4)6cm

15. A and B have their monthly
lnmmmmcmﬁoﬁ &Whﬂc

in the ratio 54'3. Af they hgm._
saved Rs. 42,000 and(Rs.
10,000 monthly respectively,
then the difference in_their
monthly Incomes is
(1) Rs.52,000%,
(2) Rs. 42,000
(3) Rs. 44,000
(4) Rs. 46,000

16. Pipe A can fill an empty tank
in 6 hours and pipe B in 8
hours. If both the pipes are
opened and after 2 hours pipe.
A is closed, how much time B
will take to fill the remaining
tank?

1
(1) 7—2- hours

2
(2) 25 hours

1
(3) 23 hours

1
(4) 3 3 hours

17. A right prism has a triangu-
lar base whose sides are 13
cm, 20 cm and 21 cm. If the
altitude of the prism is 9 cm,
then its volume is
(1) 1314 em?® (2) 1134 om®
(3) 1413 cm?® (4) 1143 cm?®

18. If Bx-2y) : 2x+3yY) =5:86.
then one of the values of

&8

1
(1) 5 (2)5

1
(3) 25 (4) 25

19. Articles are marked at a pricé
which gives a profit of 25%. After
allowing a certain disé6unt the

pmﬁtﬁ!_rn\gdumsf@z 12

e &
discount percent is |

(1) 11.1%

(2) 10%

) eter 4 m and length 56 m is

22
(Takc n= 7)

1 1
(1) IPart (2}‘2' Part

(3) %Part l4) o Part

21. A telegraph post ls bent at a
point above the ground due to
starm. Its top just touches the

ground at a distance of 10 /3

metre from its foot and makes
an angle of 30° with the hori-
zontal. Then height (in metres)

of the telegraph post is
(1) 30 (2)24
(3) 20 (4) 25

22. Three Science classes A, B and
C take a Life Science test. The
average score of class A is 83.
The average score of class B
is 76. The average score of
class C is 85. The average
score of class A and B is 79
and average score of class B
and C is 81. Then the average
score of classes A, Band C is
(1) 81.5 (2) 81
(3) 80.5 (4) 80

23. A sum of money placed at com-
pound interest doubles itself
in 5 years. It will amount to
eight tifmes of itself at the
same'rate of interest in
(1) 20years (2) 10years
[a) 12years (4) 15years

24. A and B can do a given piece of

work in 8 days, B and C can do
the same work in 12 days and
A B, C com;ﬂua it in 6 days.

annual instalments of

7,640 each, allowing 5%

ompound interest com-

pounded annually. The sum

borrowed was

(1) Rs. 32,800

(2) Rs. 32,200

(3) Rs. 32,000

(4) Rs. 32,400

286. If 90 men can do a certain job
in 16 days, working 12 hours
per day. then the part of that
work which can be completed
by 70 men in 24 days, work-
ing 8 hours per day is

2
(1) 2 3

©ol|N L=~

5
(3) @ 3

27. A man purchases some or-
anges at the rate of 3 for Rs.
40 and the same quantity at
5 for Rs. 60. If he sells all the
oranges at the rate of 3 for Rs.
50, find his gain or loss per-
cent (to the nearest integer).
(1) 329% profit
(2) 31% loss (3) 34% loss
(4) 31% profit
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28. Let x be the smallest number,
which when added to 2000
makes the resulting number
divisible by 12, 16, 18 and 21.
The sum of the digits of xis
(17 (2)5
(3) 6 (4) 4

29. The value of
oot 41°. cot 42°. cot 43°. cot 44°.
cot 45° . cot 46° . cot 47° . cot
48° . cot 49°
(1) 1

(2)0
J3 1
(3}—2— (4) 72'
30. If O is the circumcentre of a

triangle ABC lying inside the
triangle, then ZOBC + £ZBAC

is equal to
(1) 90° (2) 60°
(3) 110° (4) 120°

3l.Ifx=asinf-bcosH,
y=acos 8+ b sin 0, then

which of the following is true?
2 a2

1) ? + F = ]

2) 2+ pP=a-bp
2y

{3} az + b2 =1

4 2+y=a*+ P

32. A man sells an article at 5%
above its cost price. If he had
bought it at 5% less than
what he had paid for it'and
sold it at Rs. 2.]ess, hé would

have gained 10%<The cost

price of the article is 4
(1) Rsi 200" (2) Rs. 400
(3) Rs.300 (4) Rs. 100

33. P and Q together cando a job
in 6 days. @ and R can finish

%, 60
the same jobrin ——?— days. P

started the work and worked
for 3 days. Q and R contin-
ued for 6 days. Then the dif-
ference of days in which R and
P can complete the job is
(1) 15 (2) 10
(3) 8 (4) 12

34. The H.C.F. and L.C.M. of two
numbers are 21 and 84 respec-
tively. If the ratio the two num-
bers is 1 : 4, then the larger of

the two numbers is
(1) 12 (2) 108
(3) 48 (4) 84

www.galax

385.1f 60% of A=30% of B, B =
40% of C, C = x% of A, then

value of x is
(1) 200 (2) 500
(3) 800 (4) 300

36. In an office, 40% of the stafl
is female. 70% of the female
staff and 50% of the male staff
are married. The percentage of
the unmarried staff in the of-
fice is
(1) 64 (2) 60
(3) 54 (4) 42

37.ABCD is a cyclic quadrilat-
eral. AB and DC when pro-
duced meet at P, if PA =8 cm,
PB = 6 cm, PC = 4 cm, then
the length (in cm) of PD is
(1} 8cm (2) 6 cmn
(3) 10cm (4) 12 em

38. A and B are centres of two

circles of radii 11 cm and 6

cm, respectively. PQ is adi-
rect common tangent to the

circles. If A5 = 13 cm, then
length of PQ will be

(1) 85cm  (2) 13em
(3) 12em [4] 17em

39. medmnmoreamwheelbf"

a car is 70 em. lf&ne.b,whﬁ

mtatesmt!mes mlnﬂte
thm ithe specd o

Cimhn) 1s (Thke = @}w/
(1) 0528 | (2) 528

(3) 528 4 f4)

40. Water Lax is ingreast
but. its consur tion is de-
creased by 20%. Then the in-
 ¢rease or decrease in the ex-
| penditure of the money is

(1) 5% decrease

(2) 4% decrease

(3) No change

(4) 4% increase

1
41.1f sec 6 — tan 0 = 75-.1‘.!11:

value of sec 0 . tan 0 is

2 2
(1) 3 (2) N
4 1
(3) ﬁ (4) E’

42. A car covers four successive 7
km distances at speeds of 10
km/hour, 20 km/hour, 30 km/

e : https://www.facebook.com/galaxy.ssc
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hour and 60 km/hour respec-
tively. Its average speed over
this distance is
(1) 30 km/hour
(2) 20 kmm/hour
(3) 60 km/hour
(4) 40 km/hour

43. If 64 buckets of water are re-
moved from a cubical shaped
water tank completely filled

1
with water, 3 of the tank re-

mains filled with water. The
length of each side of the tank
is 1.2’m. Assuming that all
buckets are of the same mea-
sure, then the volume (in li-
{ trés)yof-water contained by
each bucket is
(112 \ (2116
(3) 15 T 4) 18
44. ‘Iheccntroidofa AABC is G.

'I‘hc-: b3 cofa right pyramid is
i.o aare of side 10 cm. If the
\_height of the pyramid is 12
cm, then its total surface area
is
(1) 400 cm? (2) 460 cm?
(3) 260 cm?  (4) 360 cm?
46. 60 kg of an alloy A is mixed
with 100 kg of alloy B. If alloy
A has lead and tin in the ra-
tio 3 : 2 and alloy B has tin
and copper in the ratio 1 : 4,
the amount of tin in the new

alloy is
(1) 53 kg (2) 44 kg
(3) 80 kg (4) 24 kg

47.1f 5 cos 0 + 12 sin 8 = 13,
0° < 8 < 90°, then the value of

sin @ is
5 12
8 12
B 13 ) 13

48. In trapezium ABCD, AB | |CD
and AB = 2CD. Its diagonals
intersect at O. If the area of
AAOB = 84 cm?, then the area
of ACOD is equal to
M72cm*  (2) 21 cm?
(3)42cm®  (4) 26 cm?
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49. Quadrilateral ABCD is cir-
cumscribed about a circle. If
the lengths of AB, BC and CD
are 7 cm, 8.5 cm, and 9.2 cm
respectively, then the length
(in em) of DA is
(1) 7.7 (2) 16.2
(3) 10.7 (4) 7.2

80. In a school there were 1554 stu-
dents and the ratio of the num-
ber of the boys and girls was
4 : 3. After a few days, 30 girls
joined the school but a few boys
left; as a result the ratio of the
boys and girls became 7 : 6. The
number of boys who left the

school is
(1) 76 (2) 74
(3) 84 (4) 86

B1. Given that the ratio of alti-
tudes of two triangles is 4 : 5,
ratio of their areas is 3: 2. The
ratio of their corresponding

bases is
(1)8:15 (2)15: 8
(3)5:8 (4)8:5

B2.IfA:B=2:3andB:C=3:
7.thenA+B:B+C:C+Ais
(1) 4:8:9
(2) 5:8:9
(3) 5:10:9
(4) 4:10:9

5, then the

83.1f a - ——
a-3

1
value of (a- 3)* - {a—?ﬁif TS’
(1) 5 27 & P

(3) 2 (41467

B54. Thevalyeof /' &

(0.67 x 0.67 x 067) - (083 x 033 x 0.331
(067 0.67)- (0,67 033) - 033x033) 'S
(1) 11 @) 1.1
(3) 3.4 (4)0.34

B5. The greatest number- among
3%, 4%, 5* and 6% is
(1) 3% (2) 4%

(3) 5% (4) 6@

56. The interior angle of a regular
polygon exceeds its exterior
angle by 108°. The number of
the sides of the polygon is
(1) 12 (2) 16
3) 14 (4) 10

B67. The area of an isosceles tra-
pezium is 176 cm? and the

2
height is ‘i'i—th of the sum of
its parallel sides. H the ratio

|

pS://www axyclasses.co.

of the length of the parallel
sides is 4 : 7, then the length
of a diagonal (in cm) is

(1) 28 (2) a7
(3) 2 137 (4) 24
-1_3\3
5Mf[m:r q } [pdzqa) o
pq” pPq

g®, then the value of a + b,
where p and q are different
positive primes, is
(1) -1 (2) 2
(3)1 (4)0

59. Three glasses of equal volume
contains acid mixed with wa-
ter. The ratios of acid and wa-
terare2:3,.3:4and 4:5

respectively. Contents of these |/

glasses are poured in a large

vessel. The ratio of acid ﬂan

water in the large vessel is

(1) 411:540 (2) 401544

(3) 417 : 564 (4) 407 : 560
60. There jwould be;& 10% loss

(1) Rs 65
ISIRS 63
61. meavmgeﬁﬁvc Sonse
aoaitm mtcgers is L th

cluded the ayer ‘KL
mteglxs-vml'

\. (1) merease by 1.
(3 inerease by 1

a2. Tf a hemisphere is melted and
four spheres of equal volume
are made, the radius of each
sphere will be equal to

1
(1) 3 th of the radius of the

hemisphere
(2) radius of the hemisphere

(3) 2 of the radius of the

hcmisphcre

[4] th of the radius of the

heuﬂsphem

63. If a shopkeeper wants to give
20% discount on a toy, he has
to sell it for Rs. 300. If he sells
it at Rs. 405, then his gain
percent is
(1) 5% (2) 4%

(3) 8% (4) 6%

64. The average age of 30 students
of a class is 14 years 4 months.
After admission of 5 new stu-
dents in the class the average
becomes 13 years 9 months.
The youngest one of the five
new students is 9 years 11
months gld. The average age of
the rerﬁainjng 4 new students
is
[A),11 years 2 months

(2) 13 years 6 months
(3) 12 years 4 months

nditlar to the
Sector of ZABC of
E iy drawn through
allél to BC to meet

B6. The unit digit in the product
(2487)'% x (341)is

(1) 7 (2)3

(3) 9 (4) 1

67. There is a wooden sphere of

radius 6 /3 cm. The surface

area of the largest possible
cube cut out from the sphere

will be

(1) 864 cm? (2) 464 ,/5 cm?

(3) 462 cm? (4) 646 J3 cm?
68.Ifa+ b= 1, find the value of

a+ b - ab- (@ - b2

(1) -1 2)1

30 (4) 2

69, If 7sin?0 + 3cos?0 = 4, then the
value of tan 0 is (0 is acute)

1 1
(1) B (2) Iz

@) J3 (4)1

70. A cylinder with base radius 8
cm and height 2 cm is melted
to form a cone of height 6 cm.
The radius of the cone will be
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(1) 6cm (2) 8cm
(3) 4 cm (4) 5cm
71. The perimeter of a rhombus is
60 cm and one of its diagonal
is 24 cm. The area of the
rhombus is
(1) 108 sq. cm.
(2) 216 sq. cm.
(3) 432 sq. cm.
(4) 206 sq. cm
1 1

1
72.Ifa+g=b+:=c+ o

where a # b # ¢ # 0, then the
value of @® b* @ is
(-1 (2) abc
@) o (4)1

73.A, B and C can do a work
separately in 16, 32 and 48
days respectively. They started
the work together but B left
off 8 days and C six days be-
fore the completion of the
work. In what time is the work
finished?
(1) 10days (2) O days
(3) 12days (4) 14 days

74. Two blends of a commodity
costing Rs. 35 and Rs. 40 per
kg. respectively are mixed in
the ratio 2 : 3 by weight. If one-
fifth of the mixture is sold at
Rs. 46 per kg and the remain-
ing at the rate of Rs. 55 per
kg. the profit percent is.
(1) 50 (2}80 &~
(3) 40 (4 20¢

78. The valie of{coséc a - alnn}, '
(sec a - cqca)(tnna+mtcﬂ'-

is

(11 . (2)6
(3) 2 L (4)4

76.1f (- ) : Lx‘+ﬁxy+_1ﬂ=5 1
and (¥ - Palx=y=7:1,
then the ratio 2x: 3y equals
(1) 4:1 2)2:3
(3 4:3 (4)3:2

77. If a man walks at the rate of 5
km/hour, he misses a train by
7 minutes. However if he
walks at the rate of 6 km/
hour, he reaches the station
5 minutes before the arrival
of the train. The distance cov-
ered by him to reach the sta-
tion is
(1) 6 km (2) 7 km
(3) 6.25km (4) 4km

e : https: 3 book.
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78. A plane divides a right circu-
lar cone into two parts of equal
volume. If the plane is paral-
lel to the base, then the ra-
tio, in which the height of the
cone is divided, is

M1:9z @1:43
3 1:32 +1@)1:33 -1

1 1 1 1
79. If x=aE+a-§'y=ﬂ2 —a 2
then value of (¥ - 222 -1) +
-2+ 1)is
(1) 16 (2) 13
(3) 12 (4) 14
80. A dealer fixed the price of an
article 40% above the cost of
production. While selling it he
allows a discount of 20% and

makes a profit of Rs. 48. The 4

cost of production (in Rs.) of
the article is
(1) 360 (2) 420
(3) 320 (4) 400
81. The simple interest on &sum

the number of year§ is numesi-
cally half thérate percentiper_|
annuim; then the rate percent
pérannumis O
(s \(2)8 Q

tsa' . t4{5§/
82. If.\‘."i-y‘ﬂ» z%+ yz + zx,
. then the value

) B3x 3x +7y +52
'53 2+ 7y%22 + 32%x% -
(1) 2 (2) 1
(3) 0 (4)-1

83.1f x-J/3~-/2=0 and y -
J3+J2 =0, then the value

of (x*-20V2)- (1° + 2042)is

(1) o (2) 1
(3 3 4) 2

84. Two places P and Q are 162
km apart. A train leaves P for
@ and simultaneously an-
other train leaves Q for P. They
meet at the end of 6 hours. If

ClLASSES.Cco.ln

the former train travels 8 km/

hour faster than the other,
then speed of train from Q is

5
(1) 12E km/hour

5
(2)10%

6 km/hour

1
(3) 9'-2- km/hour

1
(4) 85 km/hour

85.If3(@+ PP+ A =(a+ b+ d%
then thérelation between a,
band cis
(1) azbzc (2 a=b#c
M8 . a+b=c @Wa=b=c

86. The radii of two solid iron
spheres are 1 cm and 6 cm
respectively.’A hollow sphere
is_made by melting the two

spheres. Ifthe external radius
of the h phere is 9 cm,
thcx,l i ckness (in cm) is
(1) 2 (2) 1.5

30 (4) 1

examination average

\arks obtained by the girls of
Q a class is 85 and the average
marks obtained by the boys of
the same class is 87. If the girls
and boys are in the ratio
4 : 5, average marks of the
whole class (approximately) is

closest to
(1)85.9 (2) 86.1
(3)86.4 (4) 86.5

88.1f sin A + sin?A = 1, then the
value of cos?A + cos*A is

2
(1)2 (2) IE

1
(3)1 2 41

89. The marked price of a tape re-
corder is Rs. 12, 600. A festi-
val discount of 5% is allowed
on it. Further for cash pay-
ment, a second discount of 2%
is given. The cash payment, is
to be made for buying it, is
(1) Rs. 11,703.60
(2) Rs. 11,730.60
(3) Rs. 11,370.60
(4) Rs. 11,073.60
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90. Let x be the least number, of the cone be h and radius be
which when divided by 5, 6, 7 1
and 8 leaves a remainder 3 in r, the value of T+ % 3 is
each case but when divided by
9 leaves no remainder. The 1 1
sum of digits of x is 1) = (2) =
(1) 21 (2) 22 8 s
(3) 18 (4) 24
91. The value of @7 @) T
1
4':'_1_—15 62+72 +8%4+9% 4107
34 11 9. +af3-Ja+2/3
2+ a is equal to
1 1 (1) 330 (2) 305
1) g 2 &7 (3) 355 (4) 366
97.If tan A= ntan B and sin A =
@ 1 (@) 1 m sin B, then the value of
16 32 cos?A is
92. A manufacturer fixes his 2 2
selling price at 33% over the it e
(1) —3 (2) —3
cost of production. If cost of n“+1 n” -1
production goes up by 12% and
manufacturer raises his selling m? +1
price by 10%, his percentage 3
profit is
98. 300
has

28 30 2%
m285% (2305

5
{3)36—% (4) 35%

23. 'I‘hereisanumberconsisungof 99, /
two digits, the digit in the

days  (2) 6days
days (4) 11 days

(1) 26 .
(3) 24 100. A boat moves downstream at
84. AB and CD are twovparallel 1
chords of a circle of lengths 10 herntoek LEmin 72 mins
cm and 4 cmrespectively. If the utes and upstream at the rate
chords are on the same side of of 5 km an hour. What is the
the centre and the distance speed of the boat in the still
between them is 3 cm, then water?
the diameter of the circle is
1
(1)2 J21cm. (2) J21cm. []]35 km/hour
(3)2 /29 cm. (4) JJag cm. 1
95. The numerical values of the (2) 65 km/hour
volume and the area of the lat-
(3) 4 km/hour
eral surface of a right circular (4) 8 km/hour

cone are equal. If the height
SPACE FOR ROUGH WORK
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